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QUESTION 1

The business analyst at Cloud Kicks is using a checklist to assess the quality of user stones for an upcoming
Experience Cloud implementation. Which characteristics make a user story successful? 

A. Clean Direct, Concise, Cross Functional, Configurable 

B. Actionable., Concise, Testable, Solution-oriented, Defined 

C. Independent, Negotiable, Valuable, Estimable. Small, Testable 

Correct Answer: C 

 

QUESTION 2

The business analyst (BA) at Northern Trail Outfitters is writing user stories for a Service Cloud implementation. In
which order should the BA arrange the three components of a user story? 

A. I want , as a , so that  

B. As a , I want , so that  

C. I want , so that , for a  

Correct Answer: B 

 

QUESTION 3

The business analyst (BA) at Cloud Kicks (CK) has been tasked with optimizing CK\\'s lead process. In the weekly sales
meeting, the BA outlines the project and asks for input. A new entry-level employee reaches out multiple times with
ideas and suggestions for improvements. 

What should the BA do when responding to the new employee\\'s input? 

A. Schedule a one-on-one meeting with the new employee to get an alternative perspective from a beginner\\'s mind. 

B. Acknowledge the new employee\\'s ideas while making extra effort to reach out to stakeholders who have more
industry experience and knowledge. 

C. Send a detailed survey to the entire sales team, including the new employee, to understand their needs,
expectations, and priorities. 

Correct Answer: A 

 

QUESTION 4

A business analysis (BA) is creating a business flowchart to review with a customer service team that is using service
team that is using Service Cloud. The team is organized by the products and the regions they support. Which step
should the BA include e in the business flowchart? 
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A. Capture decision steps and different outcomes. 

B. Illustrate which fields are integrated with an external system. 

C. Set limits to the scope that will be documented. 

Correct Answer: A 

 

QUESTION 5

Northern Trail Outfitters (NTO) plans to significantly grow its workforce and wants to increase the overall security of its
Sales Cloud instance. NTO has previously implemented a complex security solution with organization wide defaults,
criteria-based sharing rules, and dozens of user profiles. NTO has asked a business analyst (0A) for recommendations
on how to proceed. 

Which aspect of a potential solution is most important for a BA to consider? 

A. User adoption 

B. Scalability 

C. System downtime 

Correct Answer: A 
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